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Which of the following will be considered key teaching
behaviour belonging to the category of effectiveness?

a) Making ideas clear to learners who may be at different level of
understanding

b) Showing enthusiasm and animation through variation in eye
contact, voice and gestures

c) Using student ideas by acknowledging and summarizing

d) Probing through general questions and shifting a discussion
to some higher thought level

e) Using meaningful verbal praise to get and keep students
actively participating in the learning process

Choose the correct answer from the options given below

1. a), b) and c) only
2.a), b)and e)

3. b), ¢) and d) only
4. ¢), d) and e) only

Options :

JE3862115901. 1
SES8EZ2115902, 2
SB3862115302 5
83862115904 4

Question Number : 1 Question Id : 38386229729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. @dd (a), (b) 3R (¢)
2. %ad (a), (b) 3R (e)
3. 4 (b), (¢) 3R (d)
4. 6ad (c), (d) 3R (e)

Options :

JE3862115901. 1
SES8EZ2115902, 2
SB3862115302 5
83862115904 4

Question Number : 2 Question Id : 38386229730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the sequence which correctly indicates the order for
ensuring teaching-learning activities in a constructivist approach

1. Explore, Explain, Engage, Extend and Evaluate
2. Evaluate, Extend, Engage, Explain and Explore
3. Explain, Engage, Explore, Evaluate and Extend
4. Engage, Explore, Explain, Evaluate and Extend

Options :
ZE3862115905. 1

SEZBEZ115806. 2
SBE3BEZ115307. 2
SE3862115508. 4

Question Number : 2 Question Id : 38386229730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

SE3862115905 1
3E38621154906, 2
SB3862115307. 3
83862115908 4

Question Number : 3 Question Id : 38386229731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following factors have been labelled as 'social
competence’ in influencing learning?

a) Socio-economic status

b) Motivation

c) Intelligence - general and specific

d) Emotional well-being

e) Inability to translate thoughts into action

Choose the correct answer from the options given below

1. a), b) and c) only
2. b), c) and d) only
3. a), b) and d) only
4. ¢), d) and e) only

Options :

SE38E2115909 1
JE38E2115910 2
IE3862115911. =
SES38621154912 4

Question Number : 3 Question Id : 38386229731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

282862115909, 1
2BSZBEZ2115910. 2
2BZBEZ115911. 3
283862115912 4

Question Number : 4 Question Id : 38386229732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The compositional skills and creativity in presentation of
students can be most effectively evaluated by which of the
following tests?

1. Objective type tests
2. Essay type tests

3. Short answer tests
4. Projective type tests

Options :

IE3EE2115912 1
SE38621154914 2
83862115915 o
SB386211591c. 4

Question Number : 4 Question Id : 38386229732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

83862115912 1
3E38621154914. 2
So3862115915 5
83862115916 4

Question Number : 5 Question Id : 38386229733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The main purpose of using ICT for classroom teaching is to

1. Make the classroom instructions interesting
2. Divert students’ attention in the class

3. Keep students engaged in the class

4. Optimize learning outcomes of teaching

Options :

SE38E2115917. 1
JE38E2115918 2
IE3862115919 =
SE3862115920. 4

Question Number : 5 Question Id : 38386229733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

838621159171
JE38E2115918 2
JE38E21159193 =
IEZEE2115920. 4

Question Number : 6 Question Id : 38386229734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In an intervention based action research process, which of the
following is the usually recommended sequence?

1. Plan, Act, Observe and Reflect
2. Observe, Plan, Act and Reflect
3. Reflect, Plan, Act and Observe
4. Observe, Act, Reflect and Plan

Options :

JE3862115921. 1
3B38621154922 2
So38E2115922 5
83862115924 4

Question Number : 6 Question Id : 38386229734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

IE3EE2115921. 1
SES8B2115922 2
SJB3862115922 o
SB3862115924 4

Question Number : 7 Question Id : 38386229735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Set | with Set Il

Set | Set

(Research Tools) (Measurement Scale)

a) Questionnaire and Interview |[i) Ratio scale of measurement

b) Intelligence and Aptitude  |ii) Ordinal Scale of
Tests measurement

i iii) Interval Scale of
c) Attitude and Value Tests
measurement

iv) Nominal Scale of
d) Speed and Frequency Tests
measurement

Choose the correct answer from the options given below

1.a) - i); b) -ii); ) -iii); d) - iv)
2.a) -iii); b) - i); ©) - iv); d) - i)
3.a) - iv); b) -iii); ) - i) d) - 1)
4.a)-ii); b) -iii); ) - i); d) - iv)

Options :

SE3862115925 1
JE38E2115926 2
SE38E2115927 o
JE38621154928. 4

Question Number : 7 Question Id : 38386229735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (a) (1), (b) - i), (<) - (i), (d) - (iv)
2. (a) -(ii), (b) - (i), (c) - (iv), (d) - (ii)
3. (a) -(iv), (b) - (iii), (c) - (i), (d) - (1)
4. (a) -(ii), (b) - (iii), () - (i), (d) - (V)

Options :

SJE38E2115925 1
SJE38E2115926 2
SE38E2115927
SE3862115928 4

Question Number : 8 Question Id : 38386229736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher presents a research paper in a seminar. The
research paper cites references which are pretty old. This
situation will be described as the case of

1. Technical lapse

2. Ethical lapse

3. Academic ignorance

4. Inability of updating research source

Options :

JE3862115929. 1
3E38621154930. 2
So3862115921. 5
SJ83862115922 4

Question Number : 8 Question Id : 38386229736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

SE38E2115929 1
JE38E2115930 2
383862115931 =
SE38621154932 4

Question Number : 9 Question Id : 38386229737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

At the stage of data analysis, in which quantitative techniques
have been used by a researcher, the evidence warrants the
rejection of Null Hypothesis (Hj). Which of the following
decisions of the researcher will be deemed appropriate?

1. Rejecting the (Hp) and also the substantive research
hypothesis

2. Rejecting the (Hp) and accepting the substantive research
hypothesis

3. Rejecting the (Hp) without taking any decision on the
substantive research hypothesis

4. Accepting the (Hp) and rejecting the substantive research
hypothesis

Options :

JE3862115932 1
3E38621154934. 2
SE38621154935 =
SJ83862115926. 4

Question Number : 9 Question Id : 38386229737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

SE38E2115933 1
JE38E2115934 2
IE3862115935 =
SE38621154936. 4

Question Number : 10 Question Id : 38386229738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If data has been recorded using technical media, which among
the following is a necessary step on the way to its interpretation?

1. Transcription

2. Structural Equation Modelling
3. Sequential Analysis

4. Sampling

Options :

SE38E2115937. 1
JE3862115938 2
3E3862115939. 3
So3862115940, 4

Question Number : 10 Question Id : 38386229738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

SE38E2115937 1
JE38621154938. 2
SE38621154939. 3
SJE3862115940 4



Question Number : 11 Question Id : 38386229739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Successful educational communication is dependent upon the
skills of

a) Understanding the negative characteristics of the audience
b) Verbal communication and body language

c) Estimating time for audience impact

d) Analyzing the audience needs

Choose the correct answer from the options given below

1. a) and b) only
2. b) and c} only
3. ¢) and d) only
4. b) and d) only

Options :
238621159411

SBESBEZ115942. 2
383862115943 =
353862115544 4

Question Number : 11 Question Id : 38386229739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
SJE38E2115941. 1
SB3862115942 2



SBE3BEZ115943. =
353862115544 4

Question Number : 12 Question Id : 38386229740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following will help overcome communication
barriers?

1. Focused listening

2. Neglecting semantic noise

3. Top-down command structure
4. Use of clichéd idioms

Options :

SB3862115945 1
83862115946 2
JE38E2115947
SJE38E2115948 4

Question Number : 12 Question Id : 38386229740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

IE3EE2115945 1
SES8621154946, 2
SJB3862115947.
SB3862115948. 4

Question Number : 13 Question Id : 38386229741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Effective educational communication is

1. Non-reciprocal
2. Repetitive

3. Continuous

4. Coercive

Options :
SE38E2115949 1
IE3E6E2115950 2

ZB3BEZ115851. 3



SBESBEZ115952. 4

Question Number : 13 Question Id : 38386229741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

SE38E2115949 1
JE3862115950 2
3E3862115951. 3
SO38B2115952 4

Question Number : 14 Question Id : 38386229742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following theories can be applied to classroom
communication?

1. Theory of Social Constructivism
2. Audience Marginalization Theory
3. Ritualistic Theory

4. Theory of Hegemony

Options :

SE38E2115953 1
IE3862115954 2
SE38621154955 =
SJE3862115956 4

Question Number : 14 Question Id : 38386229742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
ZESZRE2115953 1
23862115954 2

SEZBBZ1158955. 2



SBESBEZ115956. 4

Question Number : 15 Question Id : 38386229743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled Assertion (A)
and the other is labelled as Reason (R)

Assertion (A): Pedagogy and social interaction are two major
result-oriented activities of a teacher

Reason (R): Communication has a limited role in both these
activities

In the light of the above two statements, choose the correct
option from those given below

1. Both (A) and (R) are true and (R) is the correct explanation of
(A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A) is true but (R) is false

4. (A) is false but (R) is true

Options :

SE38E2115957 1
JE38E2115958 2
3E3862115959. 3
SE3862115960. 4

Question Number : 15 Question Id : 38386229743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-d &l Hy fGU U §, Uea Sy (A) 8 IR qEI O (R) & :

B (a) : RIaORR R gme® il e & o uga
URUHEAE B G ¢ |

dh (R) : 34 GiHI SRl § YUN| &1 il YHsT g1

ST &l BYA @ & H I@d gY Hid fGu U fadei 5 ¥ ugl
ey &1 9gq & -

1. (A) 3R (R) THT T8l & 3R (R), (A) DI Te! RS g

2. (A) 3R (R) Tl HWal & 3R (R), (A) DI el odRedl ol o
3. (A) a1 faig (R) TTTd B

4. (A) 7TeTd 8 fbg (R) e B

Options :
ZECZRE2115957. 1



SBESBEZ115958. 2
SB386£1155959.
SE3862115560. 4

Question Number : 16 Question Id : 38386229744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A circle has the same area as that of a square of diagonal of
length 11.0 cm. What is the diameter of the circle?

1.~ 8.7 ¢m
2.~ 174 cm
3.~ 7.8cm
4, ~ 15.6 cm
Options :

SBEZBEZ1155961. 1
SE386£2115962. 2
SE386£2115963. 5
SESB62115964. 4

Question Number : 16 Question Id : 38386229744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2.~ 17.4 UHI

3, ~ 7.8 91

4. ~ 15.6 UHI
Options :

SB386£1155961. 1
SE386Z211596E2. 2
SE3B6Z115963. 2
SE3B62115964. 4

Question Number : 17 Question Id : 38386229745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Determine the term X' in the following series
2,9, 20,3554, 71, 'X

1. 104
2. 102
3. 89
4. 110



Options :

SE3BE2115965 1
ZE3EE211596E 2
SES8BZ2115967. 3
SJE3862115968 4

Question Number : 17 Question Id : 38386229745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad gaard x &1 91 Ayl s
2,9, 20, 35, 54, 77, ‘X'

1. 104
2. 102
3. 89
4. 110

Options :

SE3BE2115965 1
ZE3EE211596E 2
SES8BZ2115967. 3
SJE3862115968 4

Question Number : 18 Question Id : 38386229746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A student obtains overall 78% marks in his examination
consisting of Physics, Chemistry, Mathematics, Computer Science
and General English. Marks obtained in each subject and the
maximum marks are indicated in the following table

y General
Physics : . |Computer ;
Chemistry |Mathematics | _ . English
Science
_ (200
Subject (100 max |(200 max (100
max (200 max
marks) marks) max
marks) marks)
marks)
Marks
; 155 80 165 140 X
Obtained
The marks (X) obtained by the student in General English would
be
1. 68
2. 74
3.84

4. 50



Options :

SE38E2115969 1
IEZEE2115970 2
SE3862115971. 3
SJE38E2115972 4

Question Number : 18 Question Id : 38386229746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 68
2. 74
3. 84
4. 80

Options :

SE3862115969. 1
IE3862115970. 2
SB3862115971. 5
83862115972 4

Question Number : 19 Question Id : 38386229747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A shopkeeper sells a refrigerators for Rs 22,000.00 and makes a
profit of 10%. If he desires to make a profit of 18%, what should
be his selling price?

1. Rs 23, 600
2. Rs 39,600
3. Rs 36,000
4. Rs 24,600

Options :
SJE38E2115972. 1



SBE3BEZ115974. 2
SB386£21155975. 3
SE3862115576. 4

Question Number : 19 Question Id : 38386229747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 23,600 %
2.39,600 %
3. 36,000 %
4. 24,600 %

Options :

SE38E2115973 1
IE3EE2115974 2
SE386Z2115975 3
SJE38E2115976 4

Question Number : 20 Question Id : 38386229748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The two cities P and Q are 360 km apart from each other. A car
goes from P to Q with a speed of 40 km/hr and returns to P with
a speed of 60 km/hr. What is the average speed of the car?

1. 45 km/hr
2.48 km/hr
3. 50 km/hr
4, 55 km/hr

Options :

SBZBEZ115977. 1
SBSBEZ115978. 2
2B3BEZ115979. 3
SBSBEZ1159:20. 4

Question Number : 20 Question Id : 38386229748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



B P AR Q UH G U 360 [l G2 8| U R WH p § RIM
Q @1 40fdHl / Ufd 9 B IWaR T 91 & 9yl 98 p ®H

T 60fdHH! / Ufd ¢ &1 T0dR U dled! g | PR &I 3H9d IR
foai g ?

1. 45 fopdt 7 Ui der
2. 48 foodt 7 Ui der
3. 50 fopddt / ufd der
4. 55 fopddly ufd ger

Options :

SE38E2115977. 1
JE38E2115978 2
IE3EE2115979 2
SE3862115920. 4

Question Number : 21 Question Id : 38386229749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
"Mr X lives in a slum and is unemployed. Therefore, Mr X
deserves to be a minister.”

Which kind of fallacy is committed in this argument?

1. Fallacy of Composition
2. Ad misericordium

3. Fallacy of Division

4. Fallacy of Accident

Options :

IE3EE2115981. 1
SES38B21154982. 2
83862115982 o
838621159584 4

Question Number : 21 Question Id : 38386229749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

* B U HicH ol 5 35l § 3R 98 aRIeNTR 5| 9oy, e X
Tl g9 g g 39 gfdd U gy &l BH-U1 DR UaiRid
BIaTE 7

1. 998 GIN

2. U8 fediefsgg
3. faue <y

4. Uiy gy

Options :
83862115981 1



SBESBEZ115982. 2
SE386£21155983. 2
SE386211559584. 4

Question Number : 22 Question Id : 38386229750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a necessary step when you present
an argument based on inference before the others according to
the Classical Indian School of Logic?

1. Nigamana
2. Upamana
3. Upanaya

4. Udaharana

Options :

SE38E2115985 1
JE3EE2115988 2
SE386Z2115987. 3
SJE3862115988 4

Question Number : 22 Question Id : 38386229750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FafeiRad & U B - I1 3H19%g® @R 6l & 9d 31U Gidd @1
YR YRA WO & HTUR GERI & THE& A 1 giad
UEId B 87

1,
2. 3UHH
3. 3UY
4, \Jeo XU

Options :

SBZBEZ115985. 1
SESBEZ115986. 2
2BSBEZ115987. 3
SBSBEZ115958. 4

Question Number : 23 Question Id : 38386229751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following with reference to the Indian School of
Logic

a) It is related to form of the argument only

b) It is related to the content of the argument only

c) It is related to perceptual knowledge alone

d) It is related to presenting analogies alone

Choose the correct answer from the options given below

1. a) only
2. b) only
3. Both a) and b)
4. Both ¢) and d)

Options :
ZE3EE2115989. 1

SBE3BEZ115990. 2
383862115991, =2
SE386£21155992 4

Question Number : 23 Question Id : 38386229751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ddh @I HRAY ARG WRT & HeH H Fgifed R faar i :
(a) T8 had gfad & ¥0 U Ydferd 8

(b) T8 9 giad @I f[auyg -a5g ¥ Yafad &

(c) U8 Pad WiiE® I 4 Fa6id 8

(d) T8 had Weed URgfd ¥ Tefta §

id ¥ We! fasey g

1. ®ad (a)
2. Had (b)
3. (a) 3R (b) THT
4. (c) 3R (d) T

Options :

SBSBEZ115989. 1
2BS2BEZ2115980. 2
2BSZBE2115951. 3
2B3BEZ2115952 4



Question Number : 24 Question Id : 38386229752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The converse of "All cats are mammals” is

1. Some mammals are not cats
2. No mammals are cats

3. Some mammals are cats

4. All mammals are cats

Options :

SE38E2115993 1
3E38621154994 2
SE3862115995 3
SJE3862115996. 4

Question Number : 24 Question Id : 38386229752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g fafcag WuR & ST uRafda aaa g

1. 58 W fafca 781 &)
2. ®i5 Hi TWHYR] fafcadi 781 &1
3. ©8 WAYR] fafcral g

4. gl wyR] fafeeai 21

Options :

SE38E2115993 1
JE38E2115994 2
IE3862115995 =
SES862115996. 4

Question Number : 25 Question Id : 38386229753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the statement "No dogs are reptiles”, which terms are
distributed?

1. Only subject term

2. Only predicate term

3. Both subject and predicate terms
4. Neither subject nor predicate term

Options :

SE38E2115997. 1
JE3862115998 2
3E3862115999. 3
SB386211e000, 4

Question Number : 25 Question Id : 38386229753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

HYT T WU TRl eld &~ S9H HH W UG [daRkd g 7

1. ®dc] IeRT UG

2. Bad [A9g Ug

3. 3o R fadm gHf ug

4. 3=g 11 fasg el 5 9 313 Aol

Options :

SE38E2115997 1
JE38621154998. 2
SES3862115999. 3
SJE38E2116000, 4

Sub-Section Number: 2
Sub-Section Id: 3838621301
Question Shuffling Allowed : Yes

Question Id : 38386229754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ

Based on the data in the table, answer the questions that follow

The table shows the percentage (%) profit earned by the Company A,
income of Company B and expenditure of Company B during the
years, 2013 - 18 as well as formula to compute percentage (%) profit.

Year wise Financial Details (in Rs Lakhs)

Income of B Expenditure of B
Year |% Profit of A
(in Rs Lakhs) (in Rs Lakhs)
2013 |[40% 48.6 36
2014  |25% 35 25
2015 |60% 62.4 48
2016 |[40% il 44
2017 [10% 80 50
2018 [20% r2 45

_ (Income— Expenditure)
- (Erpenditure)

where Profit (%) x 100

Sub questions

Question Number : 26 Question Id : 38386229755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
What is the difference between percent(%) profit of Company A
and Company B in the year 20137

1. 5%
2. 7%
3. 12%
4. 15%

Options :
ZEIEE2118001. 1

SBEZBEZ11e00Z. 2
SB3862116003. =
SE3862116004. 4

Question Number : 27 Question Id : 38386229756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the income of the Company A in the year 2014 happened to
be Rs 32.5 Lakhs, then what was the sum of the net profit (in
Rs Lakhs) of Company A and Company B in 20147

1. Rs 12.8 Lakhs
2. Rs 13.2 Lakhs
3. Rs 15 Lakhs

4. Rs 16.5 Lakhs

Options :

SE38E2116005,
SE3EE2116006,
SESB6Z2116007,
SB386211e003.

W LD

Question Number : 28 Question Id : 38386229757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The percent profit of Company B was maximum in the year?

1.2014
2. 2015
3. 2016
4. 2017

Options :

SBSBEZ211e009. 1
2B3BEZ116010. 2
2BSZBEZ11E6011. 2
ZBZBEZ11E01Z 4



Question Number : 29 Question Id : 38386229758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the expenditure of Company A in year 2017 was Rs 45 Lakhs,
then the net profit (in Rs Lakhs) of Company A is what percent of
net profit (in Rs Lakhs) of Company B in the same year?

1. 15%
2. 25%
3. 40%
4. 75%

Options :

SE3EEZ2116013 1
SJE38E2116014 2
JE3862116015 =
SE3862116016. 4

Question Number : 30 Question Id : 38386229759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the income of Company A in the year 2018 was Rs 90 Lakhs,
then the net profit (in Rs Lakhs) of Company B in 2018 is what
percent more than the net profit (in Rs Lakhs) of Company A?

1. 30%
2. 60%
3. /5%
4. 80%

Options :
ZE3862118017. 1

SEZBEZ11E601E. 2
SBEZBEZ116019. =
SE3862116020. 4

Question Id : 38386229754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Juestion Label - Comprehension



AR H R P P MUR WU FTITE :

fafaiad Rt © faar & forad ad 2013 - 2018 & QRE STl
T BT TATDI (%), DUAT ‘&' DI AT YT HUAT &l * BT 47 Td
UiETd TTY (%) B 0T DA BT I S T 2l

qy-aR fa<iig faaeor
ad SO T D HEH A DI HUA A DI I
A % GIEEES) (T % H)
2013 40% 48.6 36
2014 | 25% 35 25
2015 60% b2.4 48
2016  40% Fi 44
2017 10% 80 50
2018  20% 72 45

wEian o) = -9 400
ogyq

Sub questions

Question Number : 26 Question Id : 38386229755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g4 2013 H HUl T YT U1 &l & ary Ufd=rd 3§ o1 3 g 7

1. 5%
2. 1%
3. 12%
4. 15%

Options :
ZEIEE2118001. 1

SBEZBEZ11e00Z. 2
SE38EZ1160032. =
SE3862116004. 4

Question Number : 27 Question Id : 38386229756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i a9 2014 H HUHT T DI 319 22,5 drg @ M, 9 g¥ 2014
®HUH T Td ST A o Y AT (R S H) & AR Ul ?

1.12.8 cdld %
2.13.2¢cd 2
3.15dd &

4. 16.5 <l %

Options :

SE38E2116005 1
ZE3862116006, 2
SB386211e007. 3
83862116008 4

Question Number : 28 Question Id : 38386229757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sl gl &1 ufaea oy fow oy gad eifds o1 2

1. 2014
2. 2015
3. 2016
4. 2017

Options :

SE38E2116009 1
SE38EZ2116010 2
IE3EE211e011. =
SES862116012 4

Question Number : 29 Question Id : 38386229758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afc gy 2017 § SO ‘T &1 G 45 ARG T 41 71 39 94 HU-1 T HI
Y& Ay (@R & H ) dUHT & & g arY (@’ © H) @l fdaHn
ufd=rd ur ?

1. 15%
2. 25%
3. 40%
4. 75%

Options :
ZE3EE211801=2 1

SEZBEZ116014. 2
SB386Z2116015. =
SE3E6Z2116016. 4

Question Number : 30 Question Id : 38386229759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

gfe a¥ 2018 H &Yl T @1 319 90 TG % U1, df 39 a4 duHl &
& Y& AarH DU T & G A Y fra1 afd=rd +1fdd g 2

1. 30%
2. 60%
3. 75%
4. 80%

Options :
ZEIEE2118017. 1

SBEZBEZ11601E. 2
SB386£21160139. =
SE3E6Z2116020. 4

Sub-Section Number: 3
Sub-Section Id: 3838621302
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 38386229760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are correct?

a) A Local Area Network (LAN) is usually located on one brand of
computer

b) The acronym 'ISP’ stands for Internet Standard Provider
Choose the correct answer from the options given below

1. a) only

2. b) only

3. Both a) and b)

4. Neither a) nor b)

Options :
ZEIEE2118021. 1

SBESBEZ11602Z2. 2
SE3BEZ116023. =
SE3862116024. 4

Question Number : 31 Question Id : 38386229760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafafad Y= 4 4 H-91/8 $Y ol o/a 7

(a) Ticbel TRET Head (T T ) WHAG: T 51 & SR W
3aRYd gId 2|

(b) Tfguff Treg 3115 TY Ut &7 3T Sete R as Uasst d g
el fddhed o :

1. ®ad (a)

2. &Had (b)

3. (a) 3R (b) T

4. (a) 3R (b) GIHI H Y D13 oI

Options :

SE3BE2116021. 1
JE3BEZ2116022 2
IE3862116023. 3
SES3862116024. 4

Question Number : 32 Question Id : 38386229761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements is/are correct?

a) The clock speed of a CPU is measured in hertz (Hz)

b) Bluetooth technology consumes maore power than Wi-Fi
technology

Choose the correct answer from the options given below

1. a) only

2. b) only

3. Both a) and b)

4. Neither a) nor b)

Options :

SE3BE2116025 1
SE3BEZ11602E 2
IE3EEZ211e027. 2
SES0EZ2116028. 4

Question Number : 32 Question Id : 38386229761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fAgfafad § $H-91/0 Y9 T8l 8/3 ¢
(a) HIUYg ®! Feilch tS ol geul H AT Sf1dl B

(b) S W] ars-Wis Ui ¥ 3ifdc Sl & @ud &l
&

'\qﬁﬁﬁﬁrf—ﬁ:

1. ®ad (a)

2. &Had (b)

3. (a) 3R (b) T

4. (a) 3R (b) H ¥ B15 ol

Options :

SE3BEZ2116025 1
SE38EZ2116026. 2
3E3862116027. 3
SES0EZ2116028. 4

Question Number : 33 Question Id : 38386229762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List |1
(Software) (Description)
a) Web browser i) Prepare written documents

b) Word processor |ii) Create and edit web pages

c) Spreadsheet iii) Connect to websites and display web pages

d) Web authoring |iv) Analyze and summarize numerical data

Choose the correct answer from the options given below

1.8) - ii); b) - iv); ©) - i); d) - iii)
2.a) -iii); b) - i); ©) - iv); d) - i)
3.a) -iii); b) -i); ) -ii); d) - iv)
4. &) -ii); b) - i) ©) - iv); d) - iii)

Options :

SJE38E2116029. 1
SB3862116030 2
JE38E2116031. =
SJE38E2116032 4

Question Number : 33 Question Id : 38386229762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl 1 I g 1l D g1y Jaferd &9 ;

Tl | (@) 1l (faazom)

(a) 49 FIR (i) Tiad cedras =1

(b) @S UHY (ii) dd GBI DI S YT UfSe
GRT|

(c) WsEfe (iii) d9 Sy & Y S-1 ayl
dd UE| &I YefRid &

(d) A& SR (iv) T=ITHD Hids! o Ao
quT Hemo

ﬂﬁiﬁﬁ?ﬁ:

1. (@) (i), (b) - (iv}, {c) - (i), (d) - (iii
2. (@) -(iii), (b) - (@) (c) - (iv), (d) - (ii
3. (a) -(ii), (b) - (i), (c} - (i), (d) - (iv
4. (a) (i), (b) - (i), (c) - (), (d) - (iii

[ R

Options :

SE3BE2116029. 1
SJE38E2116030. 2
SE3862116031. 3
SO38E211e032 4

Question Number : 34 Question Id : 38386229763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select the option that contains exclusively the text file formats

1. JPEG, MP3, RTF
2. C5V, RTF, TXT

3. GIF, JPEG, MP3
4. C5V, MP3, PDF

Options :

SJE3862116022. 1
SJE38E2116034 2
JE3862116035 2
ZE3862116036. 4

Question Number : 34 Question Id : 38386229763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fgfeafad o 1 fasey g+ o tsi<s 0 Y 2o Wite gaifed
%

1.9 U1 o, T Ul 3, IR S U
2. WO dl, R A UH, S uam &
3. il 313 U, o Ui § off, gH U1 3
4. oy dl, g dl 3, 4 S v

Options :

SE38E21160332 1
3E3862116034. 2
83862116035
SJB38621160326. 4

Question Number : 35 Question Id : 38386229764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled Assertion (A)
and the other is labelled as Reason (R)

Assertion (A): The clock speed of CPUs has not increased
significantly in recent years

Reason (R): Software now being used is faster and therefore
processors do not have to be faster

In the light of the above two statements, choose the correct
option from those given below

1. Both (A) and (R) are true and (R) is the correct explanation of
(A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A) is true but (R) is false

4. (A) is false but (R) is true

Options :

SE3BE2116037. 1
JE3BEZ2116038 2
IE3EE211e039 =
SES3862116040. 4

Question Number : 35 Question Id : 38386229764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-id gl Ty 73U 77U § ford Ue iy () YT U dd (R) &

HEYA (4) : U UT g @1 oelip ©TS &I 8ld ol & aul § ygid
w0 Y gl o1 ™ gl

TP (R) : HIoTdHd UGN [hU of Tg HheddR SifH® dig &, fd:
TR o iY@ did 81 51 ®I axaddl Tol o

SWRIHd &l DYl & o H udl faweu 9 -

1. (A) TYT (R) GFIT Fal & 9T (R) (A) B Ug! A &

2. (A) TUT (R) THI UB1 € OUT (R) (A) DI Uel o= 181 &
3. (A) T8l 8 g (R) Tad &

4. (A) TTETd & TR (R) 9Bl ©

Options :

3E3862116037. 1
SES8EZ2116038. 2
83862116029 o
SE38E2116040 4

Question Number : 36 Question Id : 38386229765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence of biomass fuels in terms of their
energy content per unit mass

1. Dung (dry) > Coconut Shells > Unsorted domestic refuse
2. Unsorted domestic refuse > Coconut Shells = Dung (dry)
3. Wood (dry) > Coconut Shells > Unsorted domestic refuse
4. Coconut Shells > Dung (dry) > Unsorted domestic refuse

Options :
ZE3EE2118041. 1

SBEZBEZ11e04Z2. 2
SE38EZ1160432. =
SE3862116044. 4

Question Number : 36 Question Id : 38386229765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A Z8H1 & 3D Uid SB15 TNHH Sl & 3= & gy |,
gl 568 Bl UgdH -

1. TMER (@1) > A1Gd @id > Se-! = o] 741 TN g
2. e A [ad1 71 TRe SR > ARG el > 6 (Y@l
3. gl Adel > AIRGd Gid > Se-il A fodl 141 93 dad
4, FRTE @I > MaR (GA@N) > SeAl 7 a1 T4 e s

Options :



SBEZBEZ116041. 1
SE386Z211604Z2. 2
SE3862116043. =
SE3B62116044. 4

Question Number : 37 Question Id : 38386229766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per provisions of Paris Agreement, the Intended Nationally
Determined Contributions (INDCs) are to be reviewed every

1. 15 years
2. 10 years
3. 5 years
4. 3 years

Options :

SE38E2116045 1
SE38EZ211e04E 2
IE3EE211e047. =
SES862116048. 4

Question Number : 37 Question Id : 38386229766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U i & 3FER T U ¥ Feifa sifimd siwer (3rg
U 1 ) B gARIa U qy q1g ol emet

1.15 a4
2. 10 @4
3.5d4
4.3d4

Options :

SE3BE2116045 1
SJE38E211604E. 2
3E3862116047. 3
So38E211e043 4

Question Number : 38 Question Id : 38386229767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sequences of disposal options for low
hazardous solid waste from industrial and urban sources is in
order of increasing desirability?

1. Indiscriminate dumping < Landfill < Incineration < Reuse
2. Composting < Landfill < Reuse < Incineration
3. Landfill < Composting < Reuse < Incineration
4. Incineration < Composting < Reuse < Landfill

Options :

SB386211e049 1
83862116050 2
SJE38E2116051. =
SE38EZ2116052 4

Question Number : 38 Question Id : 38386229767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3feifiie 2edl |idl § UTd g aIdl &1 Edi-id 819 Ry &
frafafad AR srHal 8 § oF 91 %Y dedl digHiaal &

HIPHH G ?

1.%%{@W{W{F:m
2. HHRE GIG T < YU < T: T < Y0
3. YNRIG < DR W16 §4H11 < GF: T < {00
4.W{mmm<ﬁ:mﬂﬂﬁw

Options :

SE3BE2116049 1
SJE3862116050. 2
3E3862116051. =3
SO38E211e052 4

Question Number : 39 Question Id : 38386229768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the correct group of diseases caused by polluted water

1. Cholera, Acute Diarrhoea, Typhoid and Polio

2. Cholera, Typhoid, Enteritis and Tuberculosis

3. Typhoid, Enteritis and Tuberculosis

4. Cholera, Acute Diarrhoea, Typhoid and Tuberculosis

Options :

SJE3862116052 1
JE38E2116054 2
JE38EZ2116055
3E3862116056. 4



Question Number : 39 Question Id : 38386229768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Yot Sicl & SRl 5l dld Hi-d I & Yol YHg &I UgdH :

1. oI, AHJUTd! STHR, 3<dod (CRhiEs) AR difed
2. B9, 3Tdod? (Cablse), -9y (Uersfey) 3R qufes
3. HIdoR (E3hI5s), A= (Uesfey) R dufcs
4. ool Mfaurch SHfauR, siava? (@B WEse) 3R dufled

Options :

SE3BEZ2116053 1
3E3862116054, 2
SE3862116055. =
SJE38E2116056. 4

Question Number : 40 Question Id : 38386229769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Suppose the concentration of Carbondioxide, a greenhouse gas
responsible for climate change, is 400 ppm. What is its
concentration in air in percentage terms?

1. 0.04%
2. 0.4%

3. 0.004%
4. 4.0%

Options :

SJE38E2116057. 1
SJB3862116058. 2
JE38E2116059
SE38E2116060. 4

Question Number : 40 Question Id : 38386229769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A ciifore fah Siaarg uiad- o foiu SwRarll Se- SRaaRs
(U I BT3Y T19) &I Gl 400 W4, tH. 81 ufdgddl & 0 §
ga1 H 5Ho! fded-1 95 gl 2

1. 0.04 Ufd=rd
2. 0.4 Uf=ra

3. 0.004 U=
4. 4.0 Ufd=rd

Options :
SE3BEZ2116057. 1
ZEZEEZ211605E 2

ZB3BEZ11E059. 3



SESBEZ116060. 4

Question Number : 41 Question Id : 38386229770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following recommended the establishment of
State Council for Higher Education in each state?

1. Report of the Estimates Committee (1965 - 66)

2. Review Committee on UGC (1977), Ministry of Education
3. National Policy on Education (1986)

4. Report of the UGC Committee (1990)

Options :
ZE38E2118061. 1

SESBEZ1160EZ. 2
SBESBEZ116063. =
SE3862116064. 4

Question Number : 41 Question Id : 38386229770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad o ¥ fou- ude Usg H I 3 a1 uiug S Rl
CARRIAIRRIC AR

1. UTdaar- GAfd (1965-66) B RUiE

2. guirdl (1977) & H=Ara, &t getan gt
3. WTPTY R fAfd (1986)

4. ot gfifa &1 Ruid (1990)

Options :
ZEIEE21180681. 1

SBEZBEZ1160E6Z. 2
SE3BEZ116063. =
SE3862116064. 4

Question Number : 42 Question Id : 38386229771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The National Skills Qualifications Framewaork is based on which
of the following?

1. Competency

2. Technology

3. Economic development
4. Evaluation

Options :
SB386211e065 1
SJB38E211606E. 2



SBESBEZ116067Y. =
SE3E6Z116068. 4

Question Number : 42 Question Id : 38386229771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & O S P B, a1 e A YR & 2

1. BT TR el

2. Uit smenfed g

3. 3 faamy 1enid el
4. edich 1R lar

Options :

SE38E2116065 1
ZE3862116066, 2
SB38E211e0E7Y. 5
83862116068 4

Question Number : 43 Question Id : 38386229772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is the statutory function of the UGC?

1. To appoint teaching faculty in universities

2. To control the conduct of examination in universities

3. To determine and maintain the standards of teaching and
research in universities

4. To develop curriculum for university courses

Options :

IEZEEZ211e069 1
SES8EZ2116070. 2
SJE38E2116071.
SB38E2116072 4

Question Number : 43 Question Id : 38386229772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafeiad | 9 geirdl & wifdite o q@g 2

1. fayfaeeral # e o o Fgfdd s

2. fayfaererat & udian smaieH of Fdfd e

3. [syfereral o Rieur iR 2y & T o1 FYR &3 3R 39
GEILESGE]

4, faufaeray ureus Y & fo1U ureaad o1 Ao AT

Options :
ZEIEE2118069. 1

SESBEZ116070. 2



SBESBEZ116071. =
SE386Z211607Z2 4

Question Number : 44 Question Id : 38386229773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is a Massive Open Online Course
platform created by the Ministry of Human Resource
Development, Government of India?

1. PRATHAM

2. SWAYAM

3. FUTURELEARN
4. OPEN LEARN

Options :

SE3BEZ21160Y3 1
JE3BEZ2116074 2
IEZEEZ211e075 2
SES8EZ2116076. 4

Question Number : 44 Question Id : 38386229773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfafad # ¥ fiod Ag 991e fae™ #3190, HRd IWER &1
ged Hdd 3Hi-dIg- Uiedshd Gk & 0§ 91 Tl g ?

1. U4H
2. WdUHq

3. TgERTH
4. U T+

Options :

SE3BEZ2116073 1
SJE38E2116074 2
3E3862116075. 3
SO38E211e07E, 4

Question Number : 45 Question Id : 38386229774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following scholars carried back scriptures from
Malanda University and wrote about architecture and learning of
this university?

1. Kim Huang (Korea)
2. Jin Tan Yang (Korea)
3. Xuan Zang (China)
4. Junha Meng (China)



Options :

SE3BEZ116077. 1
IEZEEZ11607E 2
SESBEZ2116079. 3
SJE38E2116080 4

Question Number : 45 Question Id : 38386229774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FfeRad 5 U o fagH Aiciar oy O ey sg- 9y
9199 o T AR 39 3yl &l digdal AR A & aR J
foran 2

1. foou gafiT (if)
2. {5 &9 o (i)
3. &1 9 (@)
4. 91 71 (d1F)

Options :

SB386211e077. 1
83862116078 2
SE3BEZ2116073 o
SE38EZ2116080 4

Sub-Section Number: 4
Sub-Section Id: 3838621303
Question Shuffling Allowed : Yes

Question Id : 38386229775 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label - Comprehension



Read the given passage and answer the questions that
follow

The motives for direct investments abroad are generally the
same as earning higher returns, possibly resulting from higher
growth rates abroad, more favorable tax treatment or greater
availability of infrastructure and diversifying risks. Indeed, it has
been found that firms with a strong international orientation,
either through exports or through foreign production and/or
sales facilities, are more profitable, and have a much smaller
variability in profits than purely domestic firms. Although these
reasons are sufficient to explain international investments they
leave one basic question unanswered with regard to direct
foreign investments. That is, they cannot explain why the
residents of a nation do not borrow from other nations and
themselves make real investments in their own nation rather
than accept direct investments from abroad. After all, the
residents of a nation can be expected to be more familiar with
local conditions, and thus to be at a competitive advantage with
respect to foreign investors. There are several explanations for
this. The most important is that many large corporations, usually
in monopolistic and oligopolistic markets, often have some
unique production knowledge or managerial skill that could
easily and profitably be utilized abroad and over which the
corporation wants to retain direct control. In such a situation, the
firm will make direct investments abroad. This involves
horizontal integration or the production abroad of a
differentiated product that is also produced at home. This helps
serve the foreign market better by adapting to local conditions
than through exports.

Sub questions

Question Number : 46 Question Id : 38386229776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The possible reasons for direct foreign investment can be
a) Higher returns

b) Better tax regimes

c) Availability of infrastructure

d) Risk mitigation

e) Financial support from local investors

Choose the correct answer from the options given below

1. a), d) and e) only
2. b), ¢) and d) only
3. a), b) and c) only
4. d), e) and f) only

Options :
ZEIEE2118081. 1

SEZBEZ11608Z. 2
SE38EZ116083. =
SE3862116084. 4

Question Number : 47 Question Id : 38386229777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Purely domestic firms are affected by

1. Low interest rates

2. Small variability of profits
3. Larger variability of profits
4. Export controls

Options :

SE38E2116085 1
ZE3862116086, 2
SB38E211e087. 5
83862116088 4

Question Number : 48 Question Id : 38386229778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the case of direct foreign investments, what factor remains
unaddressed?

1. Acceptance of foreign investment

2. Non-acceptance of foreign investment
3. Absence of competitive edge

4. Role of monopolistic corporations

Options :

SE38E2116089. 1
IE3862116090, 2
So38E211e031.
83862116092 4

Question Number : 49 Question Id : 38386229779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What advantage do large corporations have in oligopolistic
markets?

1. Direct control over profitability

2. Large production of undifferentiated products
3. Localization of managerial skills

4. Eliminating barriers to higher profits

Options :

IEZEEZ211e092 1
SES3862116094, 2
SJB38621160395 o
SB3862116096. 4

Question Number : 50 Question Id : 38386229780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The passage focuses on the aspects mainly related to

1. Indirect control over investments

2. International orientation of investment

3. Sales facilities

4. Risks involved in integration of production

Options :

SE3BE2116097. 1
ZEZEEZ211609E 2
SES8EZ2116099. 3
SB386211e100, 4

Question Id : 38386229775 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)



Cuesticon Label | Comprehension

FafET T HI R e Uy FTIT S :

faew o ywe oW & I5=0 9EG: 9ol 8id & oY [de¥ H 3o
fAB & & BRI YYad: AHS Y SHfold H1HES dHa
@Y deR, I SR ® dgak UdSdl dyl 3u- SifEdl &1
fafadfieeor axga:, 98 <@ 1 @ & Aved sfawgiy afigad
arch Futa RSt & Tem T O ey § Sdred R/l
glaersf & AreH U wal oy feld Dl & 9yl SHd oy |
faz[g uiq Sull & aM &1 o1 § BInl & i gidl g
gIctifch T HROT AP 3w Bl WP H3H & fau i g g
5t vea Al 9w & Gey & U Han UY SR 38 ol 2|
difts1 399 9% Tp 721 giaT & o ol o & frramedt v faceft
a9 &l WIHR S & gold 3 o2l U B dH WY U ¢
H gride a1 &i 98l Bed | HRReR, fodll ¢ & Hafl 9
Qg RYfagt & 91y wargl uRidd g4 &1 HUa &1 ordl 8 aul
gyfo 9 facl Mozl @ goa § ufiegyfas ©u ¥ o g gi
34d oy o3 duifdd ooy €1 Ty Agayul df 98 § &
THEFd: TBHUSR] Ud HeuifiaRl aeR g FHl & oy umg:
oo AR IdeT 99 o1 vey S o & o fagw o smard
Ud TGS ©U H W fodl off Il § al folbd SHw
AT Hen 8701 a1 9red &1 U9 fRuf © oo faewr & e
Fow ool 3o ol Ud o @1 +ff fadw d aueR gaEsE O
IdIGA XA ¢ forydT U4 e # IdigA fadr o g1 59l
gt & s9 facel aR $f 3erT Wad g wFE fRufagl o
HUHATH IR B3 H odlG] Gerdl fied 8|

Sub questions

Question Number : 46 Question Id : 38386229776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ue facei = & fog Huyifad o a1 51 9ol 82
(a) SHEIP T

(b) SER BT G

(c) STUETAT B JUARI

(d) SIITREH & DA

(e) ®IFY a9l § fa<dig T

frafafad § 9 wel fadey 94 :

1. (a), (d) 31 (e)
2. (b), (0 3R (d)
3. (a), (b) 3R (c)
4. (d), (e) 3R (f)

Options :

SE38E2116081. 1
JE3BEZ2116082 2
IE3EEZ21160E2 =
SES3862116024. 4

Question Number : 47 Question Id : 38386229777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fagrg Wq dufal Fefifad ¥ nufad g &

1. ®H &9 &Y

2. @Y H ¥ fisa
3. @Y | HfEd et
4. T9aiq FAdam

Options :

SJE38E2116085 1
SJB38E2116086. 2
SJE38EZ2116087. o
SJE38E2116088 4

Question Number : 48 Question Id : 38386229778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



uef Gz Faw & amd |, {59 RS &1 g e Tal fdar T/
3 ?

1. facel Fow & Wierar

2. fac=h o &t srdidrdr

3. Ufaauicd® @Y &1 24

4. UTDR dret (! &l Yffes

Options :

SE38E2116089. 1
IE3862116090, 2
So38E211e031.
83862116092 4

Question Number : 49 Question Id : 38386229779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g [l o 791 3D RUfd a8 2

1. AIHUCT U Wl =

2. SHfgUfed IdmGl ol WIel A
3. UaeH DIRE & IHEEH

4. dECR T B SIS &I g DAl

Options :

SE38E2116093 1
JE38E2116094 2
ZE3EE211e095 =
SES8EZ2116096. 4

Question Number : 50 Question Id : 38386229780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T8 TN i w0 I fAuferad @ fey defia rsasif mafaa g

1. 9= W 3uel FAgEm

2. fFrd=r a1 Sfagiy e
3. fawnl gfaume

4, 3164 & gH9YH ¥ fafgq wifag

Options :

83862116097 1
SJE38E2116098 2
SE38E2116099
ZEZEE211e100 4

PART II Corrurerce
Section Id : 383862394



